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~ TRIGONOMETRY-Identity

sinx sinx

- = 2tan2x. 3
1l-sinx 1+sinx 3]

1  Prove the identity
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2 Prove the identity
l+sinx cosx 2

+ - = .
COS X 1+smx cosx
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_ TRIGONOMETRY-ldentity
(i) Show that the equation sin2 6 + 3 sin B cos = 4 cos® 6 can be written as a quadratic equation in
2]

(31 |

3
|

tan 6.

- N
L (i) Hence, or otherwise, solve the equation in part (i) for 0° < 6 < 180°.

B

- . o 1\ 1-

N 4 (i) Prove the identity ( — = ) = = . [4]
) sinx tanx 1+cosx

’\‘1

~N

h 1 1 \?

) (ii) Hence solve the equation (———— - —) =2for0<x<2n 3]

N sinx tanx 5 :
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TRIGONOMETRY-Identity

3 (i) Show that the equation 1 + sinxtanx = 5 cosx can be expressed as

6cos’x—cosx—1=0.

7. Z‘/’/l
>

(ii) Hence solve the equation 1 +sinxtanx = 5cosx for 0° < x < 180°.

373670/ 33787500

Mob: 497455

muhammad@gma!l.com

E-mall:chymrc.!

|

6 (i) Show that cos*x = 1 — 2sin’x + sin*x. [1] !
'Y (ii) Hence, or otherwise, solve the equation 8 sinx + cos*x = 2 cos?x for 0° < x < 360°. [5]
|
T
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TRIGONOMETRY-identity

1+cos@® 1-cosB 4 | ?
7 5 P the ident . _ |
(i) Frove theicen lty»1 —cos® 1+cosf sinftan6 4 l

5’7 - IS T

So\
Ay 8 (i) Prove the identity ( _1 1 )2 = l—cose.
§ & sin@ tan6 1+cos@
{ﬁd (i) Hence solve the equation (_1___ _ 1 ¥ _ 3 for 0° < 6 < .
sin 6 tane) =5, for0° < 6 < 360"
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TRIGONOMETRY-Identity

~ sin 6 1 1

i g, ST = —, 41

; (: (i) Prove the identity T— =5~ 56 = an 0 (4] ‘:
‘ i ion 309 1 _ Atan@for0° < 6 < 180° 3
Gy (ii) Hence solve the equation ———5 =~ 579 = tan @ for 0° < 6 < ) (3]

O
\g g)lﬁ (i) Prove the identity tan? @ — sin?@ = tan® @'sin 6.
N

(ii) Use this result to explain why tan 6 > sin § for 0° < 6 < 90°.

o

Mob: +974 55373670/ 33787500
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TRIGONOMETRY-ldentity

14 (i) Show that the equation

3(2sinx — cosx) = 2(sinx — 3 cos X)

can be written in the form tanx = —3. 2]

(ii) Solve the equation 3(2sinx — cos x) = 2(sinx — 3 cos x), for 0° < x < 360°. [2]!

42 Prove the identity
A 2

tan?x — sin?x = tan®x sin”x. (4]

':7-_—@’7' 2
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TRIGONOMETRY-Identity

33 () Show that the equation sin 6 + cos § = 2(sin 6 - cos 0) can be expressed as tan 6 = 3. [2]

N oy (i) Hence solve the equation sin 6 + cos 6 = 2(sin 6 — cos 0), for 0° < 6 < 360°. [2]

R

sinxtanx _1 1
1-cosx cosx’

14 (i) Prove the identity

> :
- . sinxtanx . .
(ii) Hence solve the equation T cosx +2=0, for 0° < x < 360°.

10—t
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TRIGONOMETRY-Identity

cos 6
cos® 1+sin6

=tan 0.

45 (1) Prove the identity
3
}/
&

~ 1 cos 6

(1) Solve the equation - — +2 =0 for 0° < 6 < 360°.
cosf@ 1+sinf

Mob: +874 55373670 / 33787500
€-mait:chymrc.muhammad@gmall.com

16 (i) Show that the equation 2 cosx = 3 tanx can be written as a quadratic equation in sin x. [31

N
T . .
\N A (ii) Solve the equation 2cos 2y = 3 tan 2y, for 0° < y < 180°. [4]
~ . |
|
(T
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TRIGONOMETRY-ldentity

cos 6 1
’ ve the identity —25% L
< i ?; (i) Prove the identity an6(1 —sin6) 1+ S ®
T
= N cos 6
T (i) Hence solve the equation —————— =4, for 0° < 6 < 360°.
& tan (1 —sin 0)

T(\\ i8 (i) SHow that sin®6 — cos* 6 = 2sin6 - 1.

(ii) Hence solve the equation sin*6 - cos*6 = % for 0° < 6 < 360°.

i

Copyright©MRC® :( 9709-PM-1)-2017 55258711
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TRIGONOMETRY-Identity

. : . . tanx + 1 .
19 (i) Prove the identity — = sinx + cos x.
z\ s sinxtanx + cosx
> d
NN
\ t + 1 .
S (if) Hence solve the equation — e =3sinx-2cosx for 0 < x < 2.
\ Sinxtanx + CosS x
e el AT,
. 20 (i) Show that the equation 2 tan? 9 cos 9 = 3 can be written in the form 2c0s?0+3cos @ — 2=0
s [2]
% (i) Hence solve the equation 2 tan® 6 cos 6 = 3, for 0° < 6 < 360°. 3]
\
Copyright©MRC® :( 9709-PM-1)-2017 55258711
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TRIGONOMETRY-Solving

24

22
>

-
;i
:r.\
-

A
bed
i

(i) Show that the equation 4 sin*0 + 5 = 7cos? 6 may be written in the form 4x* +Tx -2 = 0,

where x = sin? 0.

(ii) Hence solve the equation 4 sin*0 +5 = 7cos? 0, for 0° < 6 < 360°.

(i) Show that the equation 2259
tan 6

+ 15 = 0 can be expressed as

4sin’6 - 15sin@—4 = 0.

os 6

(ii) Hence solve the equation ae 0 + 15 =0 for 0° < 6 < 360°.

Copyright©MRC® :( 9709-PM-1)-2017 55258711

ug
[4]
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TRIGONOMETRY-Solving
k sin 6 cos @ 1
3 i) Show that + = .
? 5-\3 @ s ‘_OW 2 sin@+cos0 sinO@-cosO sin?6 - cos?6
0y
N " : sin @ cos 6 .
=3,for0°< 6 <
o (i) Hence solve the equation P + P — or
Mob: +974 55373670 / 33787500
E-mali:chymre.muhammad@gmail.com
\T\z 4 (i) Show that the equation 2sinxtanx + 3 = 0 can be expressed as 2 cos?x —3cosx -2 = 0. [2]
Q [
T (ii) Solve the equation 2sinxtanx +3 = 0 for 0° < x < 360°. (3] |
q
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TRIGONOMETRY-Solving

sin 6 —cos 6 _tan6-1
sin@+cos@® tanO+1°

(i) Prove the identity

sin @ — cos 0 _tan®

sinf+cos® 6 , for 0° < 6 < 180°.

(i) Hence solve the equation

2 6 (i) Show that the equation 2tan?#sin?6 = 1 can be written in the form

‘ 2sin*6 + sin’6 - 1 = 0.

N

(ii) Hence solve the equation 2 tan?6sin’6 = 1 for 0° < 6 < 360°.

Copyright©oMRC® :( 9709-PM-1)-2017 55258711
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TRIGONOMETRY-Solving
o o . . ’ . B
§ 2 1 It is given that a = sinf-3cosOandb = 3sin 6 + cos 6, where (° < 0 <360°
\ (. ‘ |
N 4 (i) Show that a2 + b2 has a constant value for all values of 6.
|
0 (ii) Find the values of  for which 2a = b.
Mob: +974 55373870/ 3373Tr;oo
E-mati:chymrc.muhammad@gmail.com
N ¢ G P he i i i |
7\( ¢ 8 rove the identity (sinx + cos x)(1 - sinxcosx) = sin3x + cos’ x. [3] ;
~ .. ‘
0 (i) Solve the equation (sinx + cos x)(1 - sinxcos x) = 9sin>x for 0° < x £ 360° [3] |
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TRIGONOMETRY-Solving

|

( 2 g () Show that the equation 3 sin xtan x = 8 can be written as 3 cos? x+ 8 cos x— 3 = 0. (31 |
B | ;

| : !
L} (ii) Hence solve the equation 3 sin xtan x = 8 for 0° < x< 360°. [3] |
(f d

1
= — . - 2]
tanx SIn X CoSx :

30 ) Prove the identity tanx +

4
\§ N
g

(ii) Solve the equation =1+ 3tanx, for 0° < x < 180°. [4]

sinx cosx

Mob: +674 55373670/ 33787530
E-mail:chymrc.muhammad@gmall.com
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TRIGONOMETRY-Solving

g 3sin’x—8cosx—7 =0,

show that, for real values of X,
COSX = —

3¢ (i) Given that )
|

W

N
\&»\

[

(ii) Hence solve the equation

i : +974 55373670 / 33787500 1
3 Sln2(6 * 700) - 8 COS(e + 700) - 7 = O E-m‘::;:!::h;:wc.muhammad@gmail.com ]’

for 0° < 6 < 180°. (4] J
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TRIGONOMETRY 3

1+cosf sin 6 2

32 (i) Prove the identity sne "1 ey ey

.. . l+cos6 sin 6 3
—_— = °<0< s
(ii) Hence solve the equation S0 + T+c0s0 — 205 @ for 0° £ 6 < 360 [3]
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TRIGONOMETRY

1 2 _1-sin@
33 (i) Prove the identity (m — tan 0) = _IT:%G

................................................................................................................
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TRIGONOMETRY-Solving

;:%-aa

34 Solve the equation sin™' (4x* +x%) = én.

T 00
-y

Mob: +974 55373670/ 33787500
i iTao

E-mall:ch m

= Find all the values of x in the interval 0° < x < 180° which satisfy the equation sin3x+ 2 cos3x = 0.
(4]
|

N .
l\,}dﬁa

4
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TRIGONOMETRY-Solving

N

o
=14y

~

21/

T«

. 135sin*0 ] .
3& Solve the equation ———— + cos 6 = 2 for 0° < 6 < 180°.
2 +cos6
e T ST amalicom
3? Solve the equation sin 2x = 2 cos 2x, for 0° < x < 180°. ”
| |

¥
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TRIGONOMETRY-Solving

Qf\
3

™
3
<

& o\ 38 Solve the equation 7 cosx + 5 = 2 sin’x, for 0° < x < 360°.

39 Solve the equation 15sin?x = 13 + cosx for 0° < x < 180°.

™
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55258711

Wob: +874 55373670/ 33787500

E-mait:chyrnre.muhamme Ngegmail.com

[4]

rashed.saba@gmail.com




TRIGONOMETRY-Solving
N 0\( 40 (i) Solve the equation sin2x + 3 cos 2x = O for 0° < x < 360°.
'\l <o
I (ii) How many solutions has the equation sin 2x + 3 cos 2x = 0 for 0° < x < 1080°
, = = |
Rob: +974 55373670/ 33787529
E-mail:chymrc.muhammad@@gmall.com
&”‘ ‘
,‘ ) = i
NS eoits,,
(A\GE. i (ii) Fimg the solutions to the equation 3 sin 2xtan2x — cos2x + 1 = 0 for 0 < x < 7. [3]
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